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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on th e

given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

   (70)      (02) 

          





       


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Section–A

–

Long Answ er Type Questions

 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(19) 

(02) 

1. Define Economic development. Discuss it’s various

measurements. Which of these do you consider most

suitable and why ?

        





2. “Mark’s theory of Surplus value is the basis of the

Economic development process taking place under

capitalism”. Discuss.

         

 
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3. What is the ‘Big Push theory’ of Economic growth ?

Under what circumstances does it apply ?

 



4. Explain Fei-Ranis’s theory of dual economy. How is it

superior to Lewis’s theory of unlimited supply ?



         



5. Discuss Ricardo’s theory of Economic development.



Section–B

–

Sh ort Answ er Type Questions

  4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

     (08)      

 (08)

(04) 
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1. Explain the difference between Economic development

and Economic growth.



2. What is Physical Quality of Life Index Theory (PQLI) ?



3. Briefly explain the different stages of Economic

prosperity of Rostov.



 

4. What is “Circular Cumulative Causation theory” of

Gunnar Myrdal.

 

5. Explain the difference between underdeveloped and

developed Economy.



6. What is ‘Financial Dualism’ ? What solutions can be

taken in underdeveloped countries to reduce it ?

          


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7. Which do you consider appropriate, balanced or

unbalanced development and why ?

          



8. What is Social Overhead Capital (SOC) ?



**************


